
VAX TLZ/TZK/RRD-Series Drive Bracket/Plate Installation Sheet
EK-UBTCD-IS. A01

May 1996

VAX TLZ/TZK/RRD-Series Drive Bracket/Plate Package – Parts Information
The TLZ/TZK/RRD-Series Drive Bracket/Plate package contains all of the parts needed to install
a TLZ/TZK/RRD-series drive into different systems. Refer to Table 1 for installation information
and for the selection of which bracket or plate and screws are needed for a particular system
application.

Table 1 also provides references to other documents that may be useful to complete the VAX TLZ
/TZK/RRD-Series Drive Bracket/Plate installation. The bracket/plate and screws listed in Table 1
are shown in Figure 1.

Table 1: Which Parts You Will Need

If you have this system...
Refer to this
manual... Use these parts... Description

VAX 4000 / 100 Series EK–474AB–OP1 74-42449-01
90-10961-03 (M3 x 8 mm) for TLZ/TZK
90-10556-02 (M3 x 5 mm) for RRD

Bracket
Screws
Screws

MicroVAX 3100 /
Models 40/80/90/96

EK–A0519–MG2

EK–A0519–UD3
74-42449-01
90-10961-03 (M3 x 8 mm) for TLZ/TZK
90-10556-02 (M3 x 5 mm) for RRD

Bracket
Screws
Screws

VAXstation Models 60/96 EK–VAXOG–IN4 74-41734-01
90-11187-03 (M3 x 6 mm)

Plate
Screws

1VAX 4000 BA42B Enclosure System Options

2MicroVAX 3100 Platform Options

3MicroVAX 3100 Platform Options Supplement

4VAXstation 4000 Model 90 Owner’s and System Installation Guide



Illustrations

Figure 1: Bracket, Plate, and Screws

Bracket
(74-42449-01)

Screws
(90-10961-03 for TLZ/TZK)
(90-10556-02 for RRD)

Plate
(74-41734-01)

Screws
(90-11187-03)

MLO-013454

The following are trademarks of Digital Equipment Corporation: MicroVAX, VAX, VAXstation, and
the DIGITAL logo.

S3280

© Digital Equipment Corporation. 1996. All rights reserved.

2


